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Losungen Quiz 1

Version A

Welche der folgenden Aussagen sind richtig?

b f:[-5.5]=[-L1]mitr— f cos(z) ist surjektiv

@ f:[0,7r] > [—1,1]mitz — f(x):= cos(z) ist surjektiv
(@) =

(© f:[-%.5]=[-11]mitz— f(x):= cos(x) ist injektiv
)

(
d f:[0,7] = [—1,1] mitz — f(z):= cos(x) ist injektiv

Losung: (a),(d)
Version B

Welche der folgenden Aussagen sind richtig?

(@ f:][0,1] = [~1,1] mita > f(z) := /]| ist injektiv
(b) f:[-1,1] = [0,1] mitx v f(x) := /]| ist injektiv
= /|z] ist surjektiv

)
() f:[0,1] = [—1,1]mitx — f(zx):
d) f:[-1,1] = [0,1] mita > f(x) := /|=| ist surjektiv

Bitte wenden!



Losung: (a),(d)
Version C

Welche der folgenden Aussagen sind richtig?

(@ f:[0,%)—[0,00) mitz > f(x) := tan(x) ist bijektiv
(b) f:(=5,5) = Rmitx — f(z) := tan(z) istinjektiv
(© f:[0,5)— Rmitz +— f(z):= tan(z) ist surjektiv

(d) f:[0,5)—[0,00) mitx — f(x):= tan(z) ist surjektiv

Losung: (a),(b),(d)



